20 GA STRUT ATTACHED W/ (@ 2

1/4* X 3/4° HEX HEAD SCREWS ——1
14 GA 125 X 125" X 1 AT EACH END AND CENTER STILE
PUNCHED ANGLE ATTACHED TO
ADJUSTABLE SLIDE ON TOP ‘ 14GA. (MIN.> CENTER HINGE ATTACHED 12 GA, (MIN.> GALV. COMMERCIAL

TOP ROLLER BRACKET ATTACHED
WITH (3) 1/74* x 3/4’ HEX HEAD
UNIV. SCREWS PER BRACKET

ADJUSTABLE SLIDE BRACKET IS

W/ A TOTAL OF ¢5) 174’ x 3/4'
HEX HEAD SCREWS

FIXTURE WITH (1) 5/167 X
374" BOLT AND NUT

20 GA STRUT ON EACH

et Sl A Rl e e Ue
A NS CALY SCREWS AT EACH END AND SECTION BOLT &
12 GA. (MIND : CENTER STILE
g B o e zomn,
BRACKET ATTACHED W/(3) = K I o e EXTERIOR SKIN
174" x 3/4° HEX HEAD SCREWS 2° 10 BALL STEEL ROLLER Encmmns 27 GA MIN INTERIOR SKIN 27 GA
W/45° STEM MIN. WITH
ADJUSTABLE SLIDE BRACKET BOLT RETAINERS USED FOR
ATT(?E;‘REIE\G!/BI(J?_)‘&/:NDX NIJTES °® o NON-THREADED FASTENERS 1) 2° 20 GA STRUT ON EVERY
— 14539 ;;ﬁgg OTHER SECTION STARTING WITH

SECOND SECTION ATTACHED
W/ (@) 174" X 3/4° HEX HEAD
SCREWS EACH END STILE AND
EACH CENTER STILE

TYPICAL TOP FIXTURES @
N.T.S.
—

TYPICAL CENTER HINGE 8
N.T.S.

217 MAX
SECTION
HEIGHT 14GA. (MIN> END HINGE ATTACHED E
l W/ A TOTAL OF (5> 174 x 3/4" ‘
A-AN HEX HEAD SCREWS TONGUE & GROOVE % ( (1) 3* 20 GA STRUT ON EVERY
2* 10 BALL STEEL ROLLER SECTION JOINT B =~ OTHER SECTION STARTING WITH
BDL'I\‘J{:E.?AI&EE'; ﬂxsrénwgag 8 = BOTTOM SECTION ATTACHED
NON-THREADED FASTENERS TYPICAL BOTTOM g é’éaéf,’s 1EZCHX r-:%:4 STHIE):: I-.:\E@JD
SECTION \ EACH CENTER STILE
] ]
20 GA BACKER PLATE POLYURETHANE %
BEHIND BACK SKIN INSULATION CORE §§
20 GA STRUT ON EACH i =
NTD VERTICAL  TRACK INTERMEDIATE SECTION ATTACHED = BOTTOM BRACKET
=‘\EIN BOTH SIDES (SNAP W/ (@ 1/74* X 3/4° HEX HEAD & 13 GA. (MIN)
LATCH, OR LOCK BAR SCREWS AT EACH END AND =)
WD 174k SSAHEX CENTER STILE .
HEAD SCREVS : ~—— SECTION A—A (SIDE VIEW)
TYPICAL END HINGE ("3 N.T.S.
N.T.S. ,
T —
e —
54° e A REV | DESCRIPTION OF REVISIONS DA {BY
90" MAX ; ° 13 6o BOTTOM BRACKET _
13 GA. BOTTOM BRACKET BASE ° ASSEMBLY A E P o
INSIDE ELEVATION ATTACHED W/(@ 1/4° X 3/4° n :1;{;4)1451:;/3 séng\{fs MAX SIZE a3 JERCEUNY =
HEX HEAD SCREWS 9 x 14 29 - 8
N-TS. ‘ € © & N ROLLER FLANGD DESIGN LoADs | £ \:‘ QLT 54' \‘ 2
o= +38.0 PSF ‘:{i 4& ) g
-44.9 PSF Es e
) o g
2 10 BALL STEEL ROLLER TEST LOADS SE &
SR, | e | £ ‘
TREB-375 BOTTOM BRACKET@ BT R ey -67.4psF | £ 2
T.S. FE] 2
TRBB-375 BOTTOM BRACKET 4B ff Yereesest §
N.T.S. g S \\ S/ONA\_E‘\ = 2
56 A SO g o
= S
20 GA. GALV. STEEL END STILE JAMB SEAL No-1/No.2 SPF or 2’!("5’2\1/\8»:2 ’ TX i
ATTACHED TO DOORS SKIN WITH OPTIONAL A 5/16° x 1 5/8°
@ #8 X 1/2° SCREWS PER STILE ~ LAG SCREW PER THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE
JAMB BRACKET WITH THE PROCEDURE DESCRIBED IN ASTM E330, E1886, E1996, ENTRF//A‘ATIC
A} 7 L F588 AND DASMA 108, 115. THE PRESSURES SHOWN ON THE
(W 1/4-20  5/8"TRACK \\‘\ /’ /’ DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH 165 CARRIAGE COORT WINSTON-SACER, Mo, B1VYS
SPLICE BDLTJzug ggleig THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN THE MODEL C500 (CLAMSHELL)
INTERMEDIATE END ZONE, ROOF AT ANY SLOPE, AND I=1.0):
HINGES 14GA (MIN.) 27 10 BALL STEEL ROLLER : AMARR OLYMPUS
\éléffskégfx'::z@'u\s/éwma WIND SPEED (MPH) 155 141 134 128 123
2" GALV. STEEL TRACK _
THICKNESS .063"(MIN.) TRACK MOUNTING DETAIL NON-THREADED FASTENERS EXPOSURE LEVEL B C C D D SIZE | DRAWNBY  RIR| DATE 12/22/15 DRAWING NUMBER
N.TS ; , ' ' ; B | coeckmBY RR| DATE 12/23/15 IRC-C509-155-15-1
MEAN ROOF HEIGHT 30 15 25 15 25
SHEET 1 OF 3




OPTIONAL SHORT AND LONG PANEL GLAZING LAYDUTS -1/ WX DL

N.T.S, ' | 38-1/16" MAX., DLO
- v = == ————— = =
E; - o -
/ / yavi
’ / /S / / l 10-5/8" 10-5/8°
AR AR 4 3 MAX. DLO MAX. DLO
. - o 1 =
10pP CTION - T e S — e — & X
HEIRT PANEL IMPACT GLAZING FASTENER DETAIL INQIFNG PANEL IMPACT GLAZING FASTENER DETAIL
TERMEDIAT TION INTERMEDIATE SECTION
INTERIOR OF GARAGE . SPECIFICATIONS AND NOTES
—e | MAX. WIDTH 9°0" |t ;
1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR.
DESIGN LOADS | NEREREEEE ] 2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+171.0 LBS/FT +171.0 LBS/FT & —202.1 LBS/FT
4 ~202.1 LBS/FT SEE NOTE 2
ﬁ,spsAc?olsﬁTE,)Q(ITU'EUD,.—ERDA&LUMINUM (14> #8 X 1° PHILLIPS / 3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED
W/.375° BITE ON GLASS HEAD SHEETMETAL SCREWS AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.
USED TO FASTEN THE ALUMINUM 4. DOOR SECTIONS SHALL BE 27 GA. (.015) MIN. EXTERIOR AND INTERIOR
1/4* MAKROLON POLYCARBONATE AL{MEELDREXFT RE??P;EIRTERZ:E : SKIN, ROLLED FORMED, W/ BAKED ON POLYESTER FINISH
/ MANUFACTURED BY BAYER 14 GA. (MIN. FLAG BRACKET 5. DOORS UP TO 14°0" HIGH USE (1) 3" 20GA STRUT ON EVERY OTHER
N ATTACHED TO WOOD JAME SECTION STARTING ON THE BOTTOM SECTION & (1) 2" 20GA STRUT ON
@_! W/(3> S5/16 DIA. X 1-5/8° LAG BOLTS EVERY OTHER SECTION STARTING WITH THE SECOND SECTION.
g1 AND TO TRACK W/¢4> 1/4°-20 x 3/8° 6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
,-’ TRACK SPLICE BOLTS AND NUTS BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

1/8° X 1/8° CONTINUOUS

?
éé 055 6060 EXTRUDED ALU
: 055* MINUM (HS5078) HOT MELT SEALANT N
éé IMPACT EXTERIOR FRAME MANUFACTURED BY BOSTIK .©)) L
v FEYTYTIYIT) < -
%' / ’ REV | DESCRPTION OF REVSONS DKE  [BY
%;’—‘. SECTION B-B IMPACT WINDOW DETAIL /
%; NTS. 14 GA. SPLICE BRACKET ATTACHED
%g TO WOOD JAMB W/ <1 5/16 DIA. X — )
’ ~5/87 LAG BOLT AND TO TRACK W/ MAX SIZE 53 g
%?_ > (4> 1/4°-20 x 5/8° TRACK SPLICE ox1a | 89 _-€‘g;‘r‘\\\ 5
%é BOLTS AND NUTS pEsion Lowos | €5 AES 3 .*4 Y ;
7 , , +380PSF | BT S o el
7 W 5/16° DIA. x 1-5/8 Teiors |EE 2. T -
%; | | LAG BOLT ATTACHED TO JAMB : oE k¢ oty
%:_ AT EA. JAMB BRACKET JEST LOADS t:?-‘(, R : s
A;'ﬁ +57.0 PSF £a Iy g
z 12 GA. GALV, STEEL -67.4 PSF 52 A 7 2
PLICE TRACKS W/ JAMBCBRgcsE/TS) , E£ES 7 »9» ( =
LI ATTACHED W/CD) 1/4°-20 x 5/8° 55 &
P / TRACK SPLICE BOLT & NUT %3 'q‘ ‘/CENS \\‘0 g
| 50 (063 MIN DR é < ‘\\ S ONA\-E$ = z
3* (12 GA. MIN VERTICAL TRACK 5% AT C]
TRACK ATTACHMENT CAN BE BRACKET £E X o
= D-F MOUNT, CONTINUDUS, REVERSE ANGLE 2T a
el e 2 MOUNT DR TAPERED REVERSE ANGLE
W g 5 8 MOUNT. (SEE AVAILABLE TRACK
= |2 e [l g 2 c CONFIGURATIONS ON THIS PAGE
3
8 guﬂ sﬂ e ; ALL TRACK BRACKETS AND TRACK ENTREMATIC
¥ g & g CLIPS ARE ATTACHED TO TRACK
¥ ¥ B WITH (2 RIVETS OR (1> 1/4-20 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105
— A BOLT & NUT
ALL TRACK BRACKETS OR TRACK
!{ CLIPS ARE TO FOLLOW SPACING AS MODEL C500 (CLAMSHELL)
”l I“ J INDICATED AMARR OLYMPUS
S ——
RATION SIZE | DRAWN BY  RIR] DATE 12/22/15 DRAWNG NUMBER
AVALADE TRACK CONSRATINS : TRACK CONFIGURATION FOR UP TO 14’ TALL DOORS /2
SEE TABLE 1 B | CHEKEDBY RIR| DATE 12/23/15 IRC-C509-155-15-1
SHEET 2 OF 3




TABLE 1

DOOR TRACK ATTACHMENT

HEIGHT

8 2
AT 0" [10.07] 34" | B8 | 82 |

73| 0" [f0.0°] 34" | 58 | 82 | 106 [ 130" | 148" |

TYPICAL

SPLICE

ALL TRACK ATTACHMENTS +/— 2" ALLOWED USING SYP OR SPF NO.2 OR BETTER ONLY

TABLE 2
Section Center Stile Location
(Measured from Left Edge)
Width Panel Type
1st (in 2nd (in
(ft) (in) (in)

~ 7[0 | Shot | 29200 |

e [ Shor |20 | o000
B0 | Shot | 4800 | |
_Short | 50000 |
"85 | Shot | B0 | |

Short 54.000

WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL)

X 4

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
5/16" X 3" LAG SCREWS STARTING 6" FROM ENDS
THEN 24" 0.C. (1 1/2” EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PS| CONCRETE

HILTI KWIK BOLT 3/8” X 4" STARTING 6" FROM ENDS

THEN 24" 0.C. (2 1/2" EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8” X 2-3/4" STARTING 6" FROM ENDS

THEN 24" 0.C. (1 1/4” EMBEDMENT)

ITW/RAMSET REDHEAD (TRU—BOLT) 3/8” X 4” STARTING 6" FROM ENDS
THEN 24" 0.C. (2 1/2” EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C—-90 BLOCK

SIMPSON 1/4” X 3" TITEN SCREWS STARTING 6" FROM ENDS,

USE PAIRS OF FASTENERS (3" APART)

AT 16" 0.C. (1 1/2" EMBEDMENT)

HILTI 1/4" X 2—-3/4" KWIK—CON I+ SCREWS STARTING 6" FROM ENDS,

USE PAIRS OF FASTENERS (3" APART) AT 16" 0.C. (1 1/4"” EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-—90 BLOCK (2000 PSI GROUT)
HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS

THEN 24” 0.C. (1 1/4" EMBEDMENT)

(OR, USE FASTENERS FOR HOLLOW C-90 BLOCK)

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.

*PREPARATION OF WOOD JAMBS BY OTHERS

wOoOoD CONCRETE
STRUCTURE STRUCTURE

EMBEDMENT

1727 MIN TYP. 2-3/4" MIN

HOLLOW ‘BLOCK

STRUCTURE GROUTED BLOCK

STRUCTURE

1-172° MIN m
3" MIN

REV | DESCRIPTION OF REVISIONS DATE

BY

MAX SIZE
9" x 14
DESIGN LOADS
+38.0 PSF
—44.9 PSF

TEST LOADS
+57.0 PSF
—-67.4 PSF

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063)

5921-G W. Friendly Ave., Gre\e\gboro, NC 27410

ENTREMATIC

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105

MODEL C500 (CLAMSHELL)

AMARR OLYMPUS

SIZE | DRAWN BY

RIR| DATE 12/22/15

B | coEcxepBY RR| DATE 12/23/15

DRAMNG NUMBER
IRC-C509-155-15-1

SHEET 3 OF 3




